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~ - (~~ 1~ 3) ~R:itllit~
~if 2 cn2HR:itllit%~~~~~
I am- IIR:itllit~ I ~ ~cn~ if \itt ~

Mllit~-m~m;RT~ I
~ Cb1&rR' ~ ~ am-~cntfch ~

m~ (i,f&;Cf)~~~cn~~ RCf)("ld~ I

~-a:-
(A) ~ ~ ~ 1 "B 1:fRurIll RCh(1(11 %" I

(B) ~ ~ ~ II "B 1:fRurIll RCh(1(11 %" I

(C) ~ ~ ~ 1 3lR II"B 1:fRurIll RCh(1(11 %" I

(0) ~";f 1 ~ ";f II "B 1:fRurIll RCh(1(11 %" I

lJ. 1. cn2H:- ri trr.U'Qfcr;r t
ri l=ifu'Qfcr;r ~ I

~ :- (I) ritrr.Ul=ifu~I
( II) ri l=ifu1lRT~ I

lJ.2. cn~:- ~~wt
~wft.;r~ I

~ :- (I) ~mot~dt(;jl~l
(II) ~ft.;rwi I

lJ.3. cn~:- ~~~~,

ri~~~l
" "

~:- (I) ~~~~l

(11)~~~~~1
lJ. 4. ~ cn~ it ~ en1~ ("l¥fch~l'en1

~en1ftrgrr~ I Rqjfch(i it~~m
~cn~it¥f~en1~Cb1~
~~~?

(A) 48 (B) 44

Direction - (Question 1 to 3) In each question
below are given two statements followed by
two conclusions numbered I and II, you have
to assume every thing in the two statements
to be true read the conclusion and then decide
which of the given conclusions legically follows
from the two given statements.
give answer -
(A) If only conclusion I follows
(B) If only conclusion II follows
(C) If Both conclusion 1and II follows

(D) If nighter conclusion I nor II follows

a.1. Statements :- All water is divine,
All temple are divine
Conclusions :-
(I) All water is temple
(II) All temples are water

a.2. Statements :- Some drems are
nights, some nights are days.
Conclusions :-
(I) Alldaysareeithernightsordrems.
(II) Some days are nights.

a. 3. Statements :- Some Scooters are
trucks. All trucks are train.
Conclusions :-
(I) Some Scooters are train.
(II) No truck is a Scooters.

a. 4. The number of boys in a class is

three times the numbers of Girls

which one of the following numbers

can not represant the total number

of Children in the class?

(C) 42

NTSE-I
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(A) 48

(C) 42

(B) 44

(0) 40
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~. 5. "U'ilctt 3W~tFi~ir~~~~"~

m tFiT ~ ~ "9:?r3UZ[ tFiT fitrr t I" "U'il

ft+«rr~~~t:

Q. 5. Pointing to Raju, Smita said "His

Mother's Brother is the Father of my

Son Aashu" How is Raju related to

Smita:

(A) Brother in law (B) Nephew

Direction:- (Q. No. 06 to 8) In the following
questions find the Correct choice

from the given 4 option in place of

question mark (?)

(A) ~ (B) ~

(C) ~ (D) ;rr;:ft

~:- (~~06~8$~)~M
Tf(}Tf(}~-q~~$~ t("{~Tflt
4 rnCb&ci'i-q~~mm ?

~. 6. XLP: COK : : MDV : ?

(C) Uncle (D) Aunt

(C) ~ (D) 3nlT

~. 9. ~~~-q~~t?

(A) 25 (B) 26

(A) NVE (B) NWV

(C) EWN (D) NWE

~. 7. ~:~: :~:?

(A) ~ (B) -us
(C) ~ (D) ~~

~. 8.m: '3'f)qf: : ~ : ?

(A) ~ (B) ~

Q. 6. XLP : COK : : MDV : ?

(A) NVE (B) NWV

(C) EWN (D) NWE

Q. 7. Neadle : Clock:: Wheel : ?

(A) Motor (B) Road

(C) Vehicle (D) Driving

Q. 8. Coal: Heat: :Wax :?

(A) Energy (B) Candle

(C) Light (D) Rire

Q. 9. How many triangles are there in to

following figure?
(C) 27

NTSE -I

(D) 28
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(A) 25

(C) 27

(B) 26

28

Downloaded From :http://cbseportal.com/

Downloaded From :http://cbseportal.com/ Courtesy : NTSE

http://cbseportal.com/
http://cbseportal.com/


!1. 10 .l:te:t if&ld d IfchCflfuif if ~ tIT fu?r T.fWT
'" I

~trr, ~~~~~tftt~
if~:t ?

(A) 00
o

(6) (]]J
(e) 8
(D) @

Q. 10. Which of the following four logical
diagrams represent correctly the
relationship between flowers, Red
colour and clothes

(A) 00
o

(6) (]]J
(C) 8
(D) @

!1. 11.~'A'"&lT~: + 'B'"&lT"'--'ri~'-,, ~l~~l~,

'C' "&IT~ 'X' 3ttt '0' "&IT~ '+'
moT 20A5C808B10 =

Q. 11. If A means +, '8' means '-' C
means 'X' and 'D"+'then

(A) 0 (B) 4

20A5C8D8810 =
(A) 0 (B) 4

Q. 12. A and 8 start walking in opposite
directions A covers 3 k.m. and 8
covers 4 k.m. Then A turns right and
walk 4 k.m. which B truns left and
walk 3 k.m. how far is each from the
starting points

(C) 30 (0) 14

!1. 12.'A' 3ttt'B'~~if~mN~
~l 'A' 3 fcn.m. 3ttt 'B' 4 fcn.m.~:tl
~ 'A' ~ am- ~ 4 fcn.m. 3ttt 'B'
~ am-~ 3 fcn.m.~tl ~

~~~~~\Uw~?

(C) 30 (0) 14

(A) 10 fcn.m.

(C) 8 fcn.m.

(B) 5 fcn.m.

(0) 7fcn.m.

(A) 10 km.

(C) 8 k.m.

(B) 5 k.m.

(0) 7 k.m.

NTSE-I
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(A) B (B) 8J (A) EJ../'"

[B [cl (C) [B(C) (0) ,'e-t

(B)

(0)

8]......-./'"
~. 14.ftr-f -q RklWlfujd -q~ x (fITl:l'R'~ m Q. 14. Which of the following could be

~~ _ value of x in the diagram:

B

(A) 10

(C) 40

(B) 20

(0) 50

c

B

(A) 10

(C) 40

C

(B) 20

(0) 50

Q. 15. A Printer number the pages of a
book starting with 1 and uses 3193
digit in all. How many pages does
the book have :

~. 15.~~~~(fIT~~ 1~~
~t~~3193am(fIT~~
t~-q~~~?

(A) 1075 (B) 1120

(C) 1595

(A) 1075

(C) 1595

(B) 1120

(0) Noneofthe above

~. 16.~ '&i~ cl; 50 ~ enl' i'i1"lmCfl

<OljH~dl Wta.u m ~l "3': fuw.i ai'3lffllof
~ I~-q~(fIT 3Fff~ 14cIT~
?1T1~~mN~~m~?1T?

Q. 16. Fifty students were there in tenth
class who took the mental ability
test. Six of the students did not
qualify. out of the remaing Ramesh
ranked 14th from the last. What was
his rank from top?(A) 32

(C) 31

(B) 30

(0) ~.qtt~-;;tf (A) 32

(C) 31

(B) 30

(0) Noneoftheabove

Q. 17. Find the odd one out:

(A) OTFV

(C) KNMP

NTSE .1

(B) SBUO

(0) PKRL

.4.

(A) OTFV

(C) KNMP

(B) SBUO

(0) PKRL
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x
6

4 5

1 3

2

Q. 18. Sleet from the alternative the box
that can be formed by folding the
figure X

x
6

4 5

1 3

2

(A) @ (B) @ (A) @ (B) @
(C) @J (0)@ (C) @J (0) @

11.19.~~~#~ 3m:«f~- Q. 19. How many rectangles are there in
the following figure?

(A) 40 (B) 45 (A) 40 (B) 45
(C) 46 (0) 50 (C) 46 (0) 50

11.20. A am-B ~~, C am-D~~ I A CfiT~ Q. 20. A and B are brother, C and Dare

DCfiT~~mB,c~~~~i' sister. A's son is D's brother, then
how is B releted to C :

(A) furr (B) ~ (A) Father (B) Brother

(C) ~ (0) ~ (C) Grand father (0) Uncle
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1:1'.21. ~ -qffi tnT~~ -rrm~ ~ ~ 6
tnT~ ~ fuTRlo ~ W 3lR qrc;IT
~~I

Q. 21. From the given four position of a
single dice, find the digit at the face
oposite to face having digit 6 :

@J@@@
(B) 3

(D) 5

(A) 1

(C) 4
(B) 3

(D) 5

(A) 1

(C) 4

1:1'.22.ma: 526=9 am- 834=9 moT 716=?

(A) 20

(C) 12

(B) 9

(D) 15

Q. 22. If 526 = 9 and 834 = 9 then 716 = ?

(A) 20 (B) 9

(C) 12 (D) 15

Q. 23. Find the missing term?

A M B N

Res D

E U F ?

A M B N

R C S D

E U F ?

(A) G

(C) T
(B) R

(D) V
(A) G

(C) T

(B) R

(D) V

Q. 24. Find the missing term ?

3 3 11?

14 9 12 20

20 42 19 40

12 13 7 20

14 9 12 20

4 9 8 10

12 13 7 20

3 3 11 ?

20 42 19 40

8 104 9

(A) 2

(C) 12

(B) 8

(D) 14
(A) 2

(C) 12

(B) 8

(D) 14
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6

{2)5
4

(B) 82

(0) 88

(B) Ch?R(5)

(0) Ch?R(3)

(A) 78

(C) 86

(C) Ch?R(4)

0.25. Find the missing term?

Direction. (0. 26 • 30) A gold smith has
Ring gold rings each having a
different weight.

Statement (1) : Ring 0 weight twice as
much as ring E.

Statement (2) : Ring E weight four and
one half times as much as ring F.

Statement (3) : Ring F weight half as
much as ring G.

Statement (4) : Ring G weight half as
much as ring H.

Statement (5) : Ring H weight less than
ring 0 but more then ring F.

Based on the above statements
answer the following questions.

0.27. Which of the numbered statement
above is not necessary to determine
the correct order of rings according
to their weights :

(A) Ch?R(1)

O. 26.Which of the following represents
the descending order of weight of
rings:

(A) O,E,G,H,F (B) O,E,H,G,F

(C) F,O,G,E,H (0) E,G,H,O,F

(B) Ch?R(5)

(0) Ch?R(3)

(A) O,E,G,H,F (B) O,E,H,G,F

(C) F,O,G,E,H (0) E,G,H,O,F

~. 27. 'd'Qr~ (f)2f.Uif ~ ~ tIT (f)~ ~
'&;C{\iR '&;~~ ~ GfdT'4Ft '&;~

~~~I

(A) Ch?R(1)

(C) Ch?R(4)

(A) 78 (B) 82

(C) 86 (0) 88

~ - (~. 26 ~ 30) ~ tfTR' '&; 'Qrtr ~ cit
$J ~ t $UCfiT'Cl'\if.i3WfTT-3WfTT

. ~ I

~-( 1) 0 ~CfiT'Cl'\if.i, E ~CfiT~~ I

~-(2) ~ECfiT~~F~~~
1J='T~I

~-(3) F ~CfiT~GCfiT:mm~ I

~-(4) G ~CfiT~H CfiT:mm~ I

~-(5) H~CfiT~O~~~F~
am~1

dq~)Ck1(f)2f.U,&;m1R~M~'&;

~~:

~. 26. ~ tIT fc1Ch<"4~ '&; C{\iR '&; ~
~ 'ChT R*'IfCid CFlrm- ~ :
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(B) GE

(D) DE

(D) Black or Green

(B) E

(D) H

(C) White

a. 28.Which of the following is lightest in
weight?
(A) 0

(C) G

a. 29. IF the rings are sold according to
their weights, which ring will fetch
hightest value in rupees?
(A) G (B) F

(C) H (D) 0

a. 30. Ring H is heavier then which of the
following two rings?
(A) FG (B) GE

(C) DF (D) DE

Direction. (a. 31-35) study the following
information and answer the
questions given below.
J, K, L, M,N,0 and P are seven kids
playing in the garden. They are
wearnig clothes of black, blue,
white, green, pink, yellow and brown
COIOUI'S, out of these seven three are
girls, No girl is wearing either black,
yellow or brown, M's sister is
wearing pink, while he is wearing
brown J is wearing blue, while his
sister K is not wearing green, N is
wearing yellow, while his best friend
P is a boy.

a. 31.What colour is K wearing?
(A) Green (B) Pink

(C) Brown (D) White

a. 32.What colour is P wearing ?
(A) Yellow (B) Blue

(A) 0 (B) E

(C) G (D) H

lA. 29. ~~ ~enT~q\TR~ ~
~~mcnRm ~CfiT~ (~
-q) ~ 3tftrcn m ?

(A) G (B) F

(C)H (D)0
lA. 30.~ H,~"&fr~fcfM<cr ~~

~~?

(A) FG

(C) OF

~ - (lA. 31-35) <U 1FU \i1l"lChlij enT~
~~~~~~I

mn ~ J, K, L, M, N, 0 aW P
~-q~~~ I~~, -;fu;rr, ~,
~,~, ~aW~W~~~
~ I mn -q ~ <fur HsRfitli ~ I fcfim m
~~~, U,m~"{ry~~~

~~~ I M "&fr~~~~
~i,~~~~~~IJ~
~~~~K~~CfiTtrr
~~~IN~~~~t~
~ar-em~p~~~ I

lA. 31. K~cnRmtrrCfiT~~~?

(A) ~ (B) ~

(C) ~ (D) ~

lA. 32. P ~cnRm"{ryCfiT~~~ ?

(A) ~ (B) ~

(C) ~ (D) ~m~
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0.36. MHZ, NIW, OKT, PNQ, ?

0.33. What colour is P wearing?

(A) Blackor Green (B) Yellow

Direction - (Q. 36-40) There is a number/
letters series in to following questions
with an item missing, marked with
question mark (?) Find the best
approprite option from the given option.

(D) Blue

(B) QRN

(D) QSN

(B) JKO

(D) KLO

(A) KLN

(C) KNO

(C) White

(A) 97 (B) 121

(C) 129 (D) 145

0.39.3,20,63,144,275, ?

(A) 354 (B) 468

(C) 548 (D) 554

0.40.81,41, 42, 64.~~,?, 330

(A) RRN

(C) QRM

0.37. Y, B, T, G, O,?

(A) N (B) M

(C) L (D) K

0.38.21,25,33,49,81, ?

0.34. What colour are sister of J and M
wearing?

(A) Pink and Green (B) Pink and Yellow

(C) White and Green (D) White and Pink

O. 35. Which of the following groups
represents only girls?

~. 33. L~~mtrr"&IT~~:g.?

(A) "CfiWIT <:IT -gu (B) tfu;rr
(C) ~ (D) U

~. 34. JamM ttr~~-~~W~~
~ml
(A) ~ anr-gu (B) ~ am-QWrr
(C) ~ anr-gu (D) ~ anr~

~. 35.m-~.q~~m~~(1$fct;e:tI'
"&IT~?

(A) KLN (B) JKO

(C) KNO (D) KLO

~- (~. 36-40) ~~~.q~~/
~~t-rp;[t ~~~~
~~~~(?)~~llm~ I
~ ~ fuCh@:lI' ~ ~ a4YJCR1 fuCh@'l
"&IT~~1

~. 36. MHZ, NIW, OKT, PNQ, ?

(A) RRN (B) QRN

(C) QRM (D) QSN

~. 37. Y, B, T, G, 0, ?

(A) N (B) M

(C) L (D) K

~.38.21,25, 33,49, 81,?

(A) 97 (B) 121

(C) 129 (D) 145

~. 39.3,20,63,144,275,?

(A) 354 (B) 468

(C) 548 (D) 554

~.40.81,41,42, 64~~,?,330

I_
i

(A) 131

(C) 129

(B) 118%

(D) 105 ~~

(A) 131

(C) 129

(B) 1183~

(D) 1053~
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r

'g. 41 ~ D=4,I=9, D/D=36 3ffi
PBH = 34 it LeT = ?
(A) 32 (B) 38

(C) 42 (0) 45

'g. 42.~ 'ARUM' CflT'37542' aW LEBRAM

CflT'168739' rnw~~it"3Wmmif
BALMANI ~~rnw~?
(A) 8319432 (B) 8319342

(C) 831972 (0) ~mt~~
'g. 43 ftnm mcfiftrcn ~ *' 'CHAT' tnT

SUZBQIBD rnw ~ ~ I"3Wmm if
'APT' ~~rnw~?
(A) SUOBZQ (B) SUOZQB

(C) SUOQBZ (0) SUOQZB

'g. 44 ~ ~ fli&iR!&> mm if 'KAMLESH'
CflT'GUJLMCO' Wmu~~ it~~
-q NATURAL ~~~~?

(A) TCNUPCV (B) TCOUPVC

(C) TCUOPVC (0) TCOUVCP

11. 45.~ ~ tn2FITCflTmqri~ ~w;r cnr
«W~ I

i. 'UI1CflTu;ft ~ ~ 3lq; ~ I

ii. u;ft CfiT~ ~ cntr 3lq; ~ I

iii. ~CflT'UI1~ ~ 3lq;~ I

iv. ~CflT'UI1~~~~~cntr3lq;
~I

~~~3lq;~?

(A) 'UI1 (B) ~

(C) u;ft (0) ~

Q.41.If D=4,1=9, DID =36 and

PBH = 34 then I.e'] = ?

(A) 32 (B) 38

(C) 42 (0) 45

Q. 42. If 'ARUNI'is written as '37542'

and LEBRAM is written as
'168739'then how will 'BALMAN!' be
written in that language ?
(A) 8319432 (B) 8319342

(C) 831972 (0) NoneoftheaboJe

Q. 43. In a certain code language 'CHAT'
is written as SUZBGIBD, How will
'APT' be coded in that language?

(A) SUOBZQ (B) SUOZQB

(C) SUOQBZ (0) SUOQZB
Q. 44. If in a certain code language

'KAMLESH' is written as 'GUJLMCO',
then how will 'NATURA~ be written
in that language?

(A) TCNUPCV (B) TCOUPVC

(C) TCUOPVC (0) TCOUVCP
Q. 45. read the following statements

carefully and answer the questions.

i. Ram scored more than Rani.

ii. Rani scored less than Ratna.

iii. Ratna scored more than Ram.

iv. Padma scored more than Ram but
less than Ratna.

Who scored the highest?

(A) Ram (B) Padma

(C) Rani (0) Ratna
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(B) 98

(0) 121

(A) 0 (B) 9

(C) 18 (0) 27

Q. 47. How many smaller cubes have
three surface coloured yellow?

Direction. (Q. 46 to 50) Read the following
information carefully and answer
the question given below:

The outer border of with 1 c.m. of a
cube with side 5 c.m. is painted
yellow on each side and the
remaning space enclosed by this 1
c.m. pathe is painted pink. This cube
is now cut into 125 smaller cubes
of each side 1 c.m. the smaller
cubes so obtained are now
separated.

Q. 46. How many smaller cubes have all
the surface uncoloured?

(A) 2 (B) 4

(C) 8 (0) 10
Q. 48. How many smaller cubes have

alteant two surface coloured
yellow?

(A) 24 (8) 44

(C) 48 (0) 96

Q. 49. How many smaller cubes have one
face coloured pink and in adjacent
face yellow?

(A) 0 (8) 1

(C) 2 (0) 4

Q. 50. How many smaller cubes have
atleast one face coloured?

(B) 98

(0) 121

(A) 27

(C) 48

~ - (~. 46 ~ 50) ~ ~ ~ 'it1""CbIt1 'Chl
~.~~~~it~

""' .
~:

5~.m.~<l;w{<l;~~~lR
1 ~.m.~ CfIT 'QWrr 'Q;c ftn<:rr ~ ~ I

~~ 1~.m.~~<l;~<l;~
lR ~ -m ftn<:rr \iffiIT ~ I 3ftif ~ ~ 'Chl
125 ~ 1 ~.m.~ <l; eAT IICfITG~
~i aW ~ 3fc'(1T-3WJlT ~ ~ ~

~I

~.46.~~~W{m~fcntitm~
lRcntt-m~~ ?

(A) 0 (B) 9

(C) 18 (0) 27

~.47.~~~W{i~<ft;:r~~-m
<l;i?
(A) 2 (B) 4

(C) 8 (0) 10

~. 48. ~ ~ ~ ~ ~ f\ji""ch1 entr ~ (f)lJ G)
~lfu;iti ?

(A) 24 (B) 44

(C) 48 (0) 96

~.49.~~~~i R"",ch1 'QJ.f)~ lR
~iTri • 3mFn:t06lR~~lr{lri?

(A) 0 (B) 1

(C) 2 (0) 4

~. 50. ~~~~~ Rit""Chl entr~entr'QJ.f)
~W~?
(A) 27

(C) 48
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